GW Kathleen 2,40 x 7,20 m.

Assembly instruction

Page 1/15

=

3245,0 mm

7250,0 mm

50,0 mm¢

N

strong concrete base
minimum dimension 300 x 300 mm.




GW Kathleen 2,40 x 7,20 m.

Assembly instruction

2368,

0 mm

IaJ

1800,0 mm

1a

1b

Page 2/15

4,5 x 80

24




GW Kathleen 2,40 x 7,20 m.
Assembly instruction Page 3/15

step 2:
then bolt M10x70

bolt M10x70 | 12

base + | la+1b washer M10 | 24
nut M10 12




GW Kathleen 2,40 x 7,20 m.

Assembly instruction

Page 4/15

1 support plate 170x35x2
per connection,
totally 14 pcs.

[ e 16 screws 3,5x40 per plate,
\ L J totally 112 pcs.
| K |
S . - . 1?6
2 screws 4,5x80 per
connection,
totally 28 pcs. |
I
400 2C
T L% : T

12 screws 4,5x80

per connection _&'_l—

6

1
.%1

S
| S h—
~

—
L A=k ]

1190,0 mm

+

2a 2a | + | 2¢ | 45x80 | 84
Base| + | 2a/2a/2c¢ | Bolt M10x 110 4

Base 2a Bolt M10 x 70 8

+




GW Kathleen 2,40 x 7,20 m.

Assembly instruction

2b

2§

totally 28 pcs.

L 17— Q0| 1 screw 4,5x80 per
connection,




5a

5a

5b
4cC
5a

6a

X 7,20 m.

GW Kathleen 2,40
Assembly instruction

6C




GW Kathleen 2,40 x 7,20 m.
Assembly instruction Page 7/15

5a 2 screws 4x60 5a
per wall
element
5b
5b
| |
The location of the walls 4¢/5a/5b can be chosen by yourself
4c/5a/5b - Sie konnen die Position der Winde selbst wiihlen
52 — —
— per —
connection -
—— ©C
;’ - 5a
5a /
oo I e ..




GW Kathleen 2,40 x 7,20 m.

Assembly instruction Page 8/15

- end walls:
N do’ nt cut off t upper bung
e R

18

fix with
screws 3,5
3 pcs.

3d

/T

use a nail gun




GW Kathleen 2,40 x 7,20 m.
Assembly instruction Page 9/15

=
e —
= e 2 .
- ~—— —
B
==

20
A 20

| SNSS | SNSSS—) SHSS— Smm—

f// :

5 scraewvws =4 S5>x8S0
Prer elerment
conmnmMmectionm

P screvws <4+, S>x&Z 0
Per wwwall
elermenmt to bottorm




GW Kathleen 2,40 x 7,20 m.

Assembly instruction Page 10/15
13d

5 screws 3,5%x40
per slat

13d

7 8 7 7

8 screws 4,5x80
per arched element

1 screw 4x60
attheend o
each arc

L angle 20x20x40 + 4
screms 3,5x40 at the
end of each arc




i
oN

Page 11/15
7 screws 3,5x40
per roof board 9a/9b

4

2

5x 80

bJ

4

GW Kathleen 2,40 x 7,20 m.

Assembly instruction

I ,
— ..\\

& - 7 7\
£ e
ff e
\ = /)
f {/ — = e
> 73
s A
/ —

walls

+

1

150,0 mm
3




GW Kathleen 2,40 x 7,20 m.
Assembly instruction Page 12/15

5 screws 3,5x40 /
per slat f




GW Kathleen 2,40 x 7,20 m.
Assembly instruction Page 13/15

13b

4 screws 3,5x40
per slat




GW Kathleen 2,40 x 7,20 m.
Assembly instruction Page 14/15

26

26

2 screws 3,5x40 = — :
r arched slat 5 o -—

2 screws 4,5x80
at the end of each step



GW Kathleen 2,40 x 7,20 m.
Assembly instruction Page 15/15

e

1l = angles 40x40x40 +
6 screws 3,5x40 per
angle

1 angle 404040 +
6 screws 3,5x40 per
angle

2 screws 3,540
per slat

fix with screws 4x60
16 pcs. per gate element




